L68-Degenerate Perturbation Theory

Monday, March 7, 2016 08:08

* Review: Quantum Mechanical perturbation theory is
a systematic method of diagonalizing matrices:
- decompose into diagonal + perturbation
- may be the only way of diagonalizing
$$\infty x \infty$$
 matrix!
* Example: 3×3 matrix:
($\chi_{+} \times \delta \varepsilon | (v_1) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_1) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_1) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_2) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_2) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_2)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi_{+} \delta \varepsilon | (v_3) = \Lambda (v_3)$
 $\delta \chi$

on the arbitrary linear combination of these chosen

$$E_{1}^{\prime} = (c_{0} + s_{0}) \begin{pmatrix} d & S \\ g & g \\ g & g \end{pmatrix} \begin{pmatrix} c_{0} \\ g & g \\ g & g \end{pmatrix} = C_{0}^{2} d + S_{0}^{2} p + S_{0}^{2} S = -S_{0}^{2} d + C_{0}^{2} p - S_{0}^{2} S$$
how do you know which values to use?
If $W = \begin{pmatrix} d & S \\ g & g \end{pmatrix} \neq I$, is if $d \neq \pi$ or $p \neq 0$, then we can use the eigen vectors of H' to break the degeneracy of H [only in this subspace]
 $|W - E'I| = \begin{vmatrix} d - E' & S \\ g & B - E' \end{vmatrix} = (d - E')(p - E') - S^{2}$

* Theorem: let A be a Hermitian operator that commutes with No, N'. If X°, Y°, the degenerate eigenfunctions of Ho are also eigenfunctions of A with distinct eigenvalues, then Wab=0, and hence Y°, Y° are good states to use in perturbation theory.

proof: [H., A) form a set of commuting observables (complete in this 2-d space). Since $[H_{0}, H'] = O = [A, H']$, H'has the same eigenvectors and is diagonal in F_{a}^{*}, F_{b}^{*} .

- * How to avoid dividing by O in above formulas: Divide by $\Delta_{nm}(E^{\circ}+E')$ instead of $\Delta_{nm}(E^{\circ})$, which are distinct.
- * Example 6.2 3-2 inf. square well

 $\langle 1 \rangle \langle 1 \rangle \langle 1 \rangle \rangle \langle 1 \rangle \langle 1 \rangle \langle 1 \rangle \rangle \langle 1 \rangle$

181

 $= E^{1/2} - (d+\beta)E^{1} + (d\beta - S^{2}) = 0$

 $= \frac{1}{2} \left(d+\beta \pm \sqrt{(d-\beta)^2 + 4\beta^2} \right)$

 $E^{I} = \frac{2+\beta}{\beta} \pm \left(\frac{(2+\beta)^{2}}{\beta} - (2\beta-\beta^{2})\right)$

$$V(x,y,z) = \begin{cases} 0 & 0 \langle x,y,z \rangle \langle \alpha \\ \infty & 0 \text{ therewise} \end{cases}$$

$$E_{nn,n_{z}}^{0} = \frac{\pi^{2}h^{2}}{2ma^{2}} (n_{x}^{2} + n_{y}^{2} + n_{z}^{2})$$

$$f_{nn,n_{z}}^{0} = \frac{\pi^{2}h^{2}}{2ma^{2}} (n_{x}^{2} + n_{y}^{2} + n_{z}^{2})$$

$$f_{nn,n_{z}}^{0} = (\frac{2}{\alpha})^{3/2} \sin(\frac{n_{x}\pi}{\alpha}x) \sin(\frac{n_{y}\pi}{\alpha}y) \sin(\frac{n_{z}\pi}{\alpha}z)$$

$$ground state: f_{11}^{0} \quad nondeganerate \rightarrow E_{0}^{0} = \frac{\pi^{2}h^{2}}{2ma^{2}} \cdot 3$$

$$f_{a}^{0} = f_{12}^{0}, f_{c}^{0} = f_{11}^{0} \text{ tripdy degenerate} \rightarrow E_{0}^{0} = \frac{\pi^{2}h^{2}}{2ma^{2}} \cdot 6$$

$$Returbation: H' = \begin{cases} V_{0} \quad if \quad 0 < xy < \frac{9}{2} \\ 0 \quad o\text{ therwise} \end{cases}$$

$$E_{0}^{1} = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}{2}V_{0}$$

$$W_{0}a = \langle \Psi_{11}^{0} | H' | \Psi_{10}^{0} \rangle = \frac{4}$$